Phil. 115        10/18/95

Some midterm instructions:

For each of the below arguments

· state whether it is valid

· if the argument is valid, construct a formal proof in the Fitch system to show this, citing the rules, and using only basic rules of inference, but no laws or theorems. Taut Con cannot be used.  If you need to use Ana Con, do so only to derive ┴ from atomic sentences.

· if the argument is not valid, show why it is not by drawing a counterexample world, Tarski's World-style.  It is recommended that you use a 2-dimensional drawing (on which cubes are displayed as squares, tetrahedrons as triangles, and dodecahedrons as pentagons).  If you can show the argument is invalid on something less than the 8x8 grid used in Tarski's World, you can use a 4x4 or a 2x2 grid instead, so long as the grid you choose allows you to construct a counterexample world.  Remember to label the objects in your world, saying which is a, b, etc.         

Some symbolizations involving quantifiers:

1. Everything is beautiful

2. Something is beautiful

3. Nothing is beautiful

4. All dogs are mammals

5. Some dogs are mammals

6. No dogs are mammals

7. All popular actors are rich

8. Some popular actor is rich

9. No popular actors are rich

10. All smart, popular actors are rich

11. Some smart, popular actor is rich

12. No smart, popular actors are rich

13. Some smart, popular actor is rich just in case Max is rich

